FEDERAL EXECUTIVE COUNCIL (FEC) APPROVED CONTRACTS FOR NOVEMBER 10, 2010

1	RATIFICATIO	RATIFICATION OF THE APPROVAL FOR THE AWARD OF CONTRACTS FOR THE ACQUISITION OF DIRECT DATA CAPTURE MACHINES FOR NATION WIDE VOTERS' REGISTRATION EXERCISE BY INEC						
S/N	Contractor	Quantity	Unit Price	Total Cost	Completion Period			
1a	Messrs. Zinox Technology (Nigeria) Limited	80,000 Units	USD1,771.73	USD141,738,400.00 Payable at the prevailing exchange rate at the time of payment	8 Weeks			
1b	Messrs. Haier Electrical Appliance	30,000 Units	USD 1,699.60	USD50,988,000.00 Payable at the prevailing exchange rate at the time of payment	8 Weeks			
1c	Messrs. Avante International Technology, Inc.,	22,000 Units	USD 1,699.60	USD37,391,200.00 Payable at the prevailing exchange rate at the time of payment	8 Weeks			
	TOTAL	132,000 Units		USD 230,117,600.00				

S/N	ITEM/SERVICE	NAME OF COMPANY	IMPLEMENTING AGENCY	соѕт	DATE	DURATION
2	Award of Contract for the Construction of 31Km Alode – Onne (Oil and Gas Free Zone) – Afam – Oyigbo – Imo River Bridge (along Aba – PH Expressway) Road in Rivers State	Messrs. Hinterland (Nigeria) Limited	Ministry of Niger Delta Affairs	₩ 17,440,499,659.52	10/11/10	24 Months
3	Award of Contract for the Completion of all Outstanding Works at the Maiduguri 1 x 150MVA 330/132KV Substation Project	Messrs. Best & Crompton Engineering (Africa) Limited	Ministry of Power/ TCN	USD2,067,346.67 Plus №911,669,400.00 inclusive of a provision of №118,913,400.00, 5% VAT on on-shore payments and 10% Contingency	10/11/10	18 Months
4	CONTRACTS FOR LAND REC	CLAMATION AND EROSIO	N CONTROL PROJEC	CTS IN ABIA AND AKWA	A-IBOM STA	ΓES
4a	Award of Contract for the Land Reclamation and Erosion Control at Ogudu Asa Phase I, Isukwuato LGA,Abia State	Messrs. Deeporange Nigeria Ltd	Ministry of Niger Delta Affairs	₩2,260,620,948.60	10/11/10	24 Months

	Award of Contract for the Land Reclamation and Erosion Control at Ibakang Nssit – Ikot Ekpo – Unyehe Road,Nsit Attai LGA Akwa Ibom	Messrs. Apogee Engineering Limited	Ministry of Niger Delta Affairs	¥ 1,473,625,392.75	10/11/10	12 Months
	State					

5	AWARD OF CONTRACTS FOR THE PRINTING AND DISTRIBUTION OF ENGLISH LANGUAGE, MATHEMATICS AND SCIENCE-BASED ACTIVITY BOOKS FOR PRIMARY THREE(3) AND ASSORTED LIBRARY BOOKS (MATERIALS) FOR THE JUNIOR SECONDARY SCHOOLS (JSS) IN NIGERIAN PUBLIC SCHOOLS BY THE UNIVERSAL BASIC EDUCATION COMMISSION(UBEC) WITH A COMPLETION PERIOD OF SIX WEEKS					
	DESCRIPTION OF PROJECT	PUBLISHER/CONTRACTOR	QUANTITY	TOTAL COST (#4)		
i	Printing and Distribution of <i>Macmillan New Pry.Maths.</i> Book 3 for 12 States	Macmillan	1,200,000	540,000,000.00		
ii	Printing and Distribution of Macmillan New Pry.Eng.Lang. Book 3 for 12 States	Macmillan	1,200,000	480,000,000.00		
iii	Printing and Distribution of <i>Think and Do: Activity-Based Science Book for Pry.3</i> for 29 States	Macmillan	2,465,000	961,350,000.00		
iv	Printing and Distribution of 143 Assorted titles of Library Resource Materials for 36 States and the FCT	Macmillan	1,322,370	548,686,875.00		
V	Printing and Distribution of Longman New Method Maths. Book 3 for 5 States	Longman Nig. Plc	500,000	240,000,000.00		

vi	Printing and Distribution of Longman Nig.Pry.Eng.Book 3 for 5 States	Longman Nigeria Plc	500,000	225,000,000.00
vii	Printing and Distribution of 54 Assorted titles of Library Resource Materials for 36 States and the FCT	Evans Brothers	499,500	147,722,500.00
viii	Printing and Distribution of Heinemann Prime Maths. Book 3 for 2 States	HEBN Publishers	200,000	100,000,000.00
ix	Printing and Distribution of Tanus Pry.Maths.Book 3 for 3 States	Tanus Comm. Ltd.	300,000	135,000,000.00
х	Printing and Distribution of Tanus Pry.Eng.Book 3 for 3 States	Tanus Co. Ltd.,	300,000	135,000,000.00
xi	Printing and Distribution of UPE Plc.Pry.Maths. Book for 2 States	University Publishers Plc	200,000	104,000,000.00
xii	Printing and Distribution of West African Learn Maths.Book 3 for 2 States	West African Books Publishers	200,000	102,000,000.00
xiii	Printing and Distribution of West African Learn Eng. Book 3 for 2 States	West Afriican Books Publishers	200,000	100,000,000.00
xiv	Printing and Distribution of Real Integrated Maths.Book for 8 States	Real Integrated	800,000	400,000,000.00

			TOTAL	¥ 5,959,509,375.00
xvii	Printing and Distribution of 134 Assorted titles of Library Resource Materials for 36 States and the FCT	Real Integrated	2,479,000	1,115,550,000.00
xvi	Printing and Distribution of Science and Technology Books Real Integrated Books for 8 states	Real Integrated	680,000	265,200,000.00
xv	Printing and Distribution of Real Integrated Maths. Book for 8 States	Real Integrated	800,000	360,000,000.00

6	• •	TO 15 SENATORIAL DISTRICTS IN 5 STATES V			·	·
S/N	LOT	DESCRIPTION	CONTRACTOR	QUANTITY	UNIT PRICE (N)	TOTAL SUM (#)
İ	1	Supply of 447,417 Units of (MDG-DRG Branded) Long Lasting Insecticidal Nets (Rectangular), 70% Polyethylene,30% polyester,50% white,25% Blue and 25% Green to Okpe LGA,Delta State	Messrs. Freedeals (Nig.) Ltd.,	447,417	1,082.00	484,105,194.00
ii	2	Supply of 458,944 Units of (MDG-DRG Branded) Long Lasting Insecticidal Nets (Rectangular), 70% Polyethylene,30% polyester,50% white,25% Blue and 25% Green to Ika LGA,Delta State	Messrs. Alirezi (Nig.) Ltd.,	458,944	1,082.00	496,577,408.00

iii	3	Supply of 417,740 Units of (MDG-DRG	Messrs. Rossies	417,740	1,082.00	451,994,680.00
		Branded) Long Lasting Insecticidal Nets	Textile Mil Ltd.,		,	, ,
		(Rectangular), 70% Polyethylene,30%				
		polyester,50% white,25% Blue and 25%				
		Green to Warri South LGA, Delta State				
iv	4	Supply of 470,425 Units of (MDG-DRG	Messrs. Jols and	470,425	1,082.00	508,999,850.00
		Branded) Long Lasting Insecticidal Nets	Associates			
		(Rectangular), 70% Polyethylene,30%				
		polyester,50% white,25% Blue and 25%				
		Green to Anyigba, Dekina, Kogi State				
٧	5	Supply of 288,321 Units of (MDG-DRG	Messrs. AP &E Ajaru	288,321	1,082.00	311,963,,322.00
		Branded) Long Lasting Insecticidal Nets	Ltd.,			
		(Rectangular), 70% Polyethylene,30%				
		polyester,50% white,25% Blue and 25%				
		Green to Lokoja, Kogi State				
vi	6	Supply of 280,286 Units of (MDG-DRG	Messrs. Springfield	280,286	1,082.00	303,269,452.00
		Branded) Long Lasting Insecticidal Nets	Agro Ltd.,			
		(Rectangular), 70% Polyethylene,30%				
		polyester,50% white,25% Blue and 25%				
		Green to Okene, Kogi State				
vii	7	Supply of 339,551 Units of (MDG-DRG	Messrs. Biostadt	339,551	1,082.00	367,394,182.00
		Branded) Long Lasting Insecticidal Nets				
		(Rectangular), 70% Polyethylene,30%				
		polyester,50% white,25% Blue and 25%				
		Green to Oshogbo, Oyo State				
viii	8	Supply of 408,550 Units of (MDG-DRG	Messrs. Harvestfield	408,550	1,082.00	442,051,100.00
		Branded) Long Lasting Insecticidal Nets	Industries Ltd.,			
		(Rectangular), 70% Polyethylene,30%				
		polyester,50% white,25% Blue and 25%				

		Green to Ile-Ife,Osun State				
xix	9	Supply of 357,969 Units of (MDG-DRG Branded) Long Lasting Insecticidal Nets (Rectangular), 70% Polyethylene,30% polyester,50% white,25% Blue and 25% Green to Iwo,Osun State	Messrs. Anthrimacx Ltd.,	357,969	1,082.00	387,322,458.00
х	10	Supply of 613,258 Units of (MDG-DRG Branded) Long Lasting Insecticidal Nets (Rectangular), 70% Polyethylene,30% polyester,50% white,25% Blue and 25% Green to Ona-Ora,Oyo State	Messrs. Dan Clinton (Nig.) Ltd.,	613,258	1,082.00	663,545,156.00
xi	11	Supply of 635,293 Units of (MDG-DRG Branded) Long Lasting Insecticidal Nets (Rectangular), 70% Polyethylene,30% polyester,50% white,25% Blue and 25% Green to Ogbomosho North LGA,Oyo State	Messrs. Zaina (Nig.) Ltd.,	635,293	1,082.00	687,387,026.00
xii	12	Supply of 575,524 Units of (MDG-DRG Branded) Long Lasting Insecticidal Nets (Rectangular), 70% Polyethylene,30% polyester,50% white,25% Blue and 25% Green to Ibadan South West LGA,Oyo State	Messrs. Patem Global Ltd.,	575,524	1,082.00	622,716,968.00
xiii	13	Supply of 392,765 Units of (MDG-DRG Branded) Long Lasting Insecticidal Nets (Rectangular), 70% Polyethylene,30%	Messrs. Grace D.Lab Diagnostic (Nig.) Ltd.,	392,765	1,082.00	424,971,730.00

xiv	14	Supply of 367,499 Units of (MDG-DRG Branded) Long Lasting Insecticidal Nets	Messrs. Afcott (Nig.) Ltd.,	367,499	1,082.00	397,633,918.00
		(Rectangular), 70% Polyethylene,30%				
		polyester,50% white,25% Blue and 25%				
		Green to Akure LGA,Ondo State				
ΧV	15	Supply of 340,725 Units of (MDG-DRG	Messrs. Cotsyn (Nig.)	340,725	1,082.00	368,664,450.00
		Branded) Long Lasting Insecticidal Nets	Ltd.,			
		(Rectangular), 70% Polyethylene,30%				
		polyester,50% white,25% Blue and 25%				
		Green to Oka LGA,Ondo State				
		·	TOTAL	6,394,267		6,918,596,894.00

	AWARD OF CONTRACTS FOR THE SUPPLY OF FIVE(5) DIFFERENT ANTI-RETROVIRAL (ARV) DRUGS TO THE FEDE					
7	OF HEA	ALTH WITHIN THE DELIVERY PE	RIOD OF 8 WEE	KS		
S/N	DESCRIPTION	CONTRACTOR	QUANTITY	UNIT PRICE(N)	TOTAL SUM(N)	
7a	Contract for the Supply of 10,000 Packs of Tenoforvir (30's)	Messrs. Abson Pharmacy Stores	10,000	3,150.00	31,500,000.00	
7b	Contract for the Supply of 200,000 Packs of Zidovudine/Lamivudine (60's)	Messrs. Ranbaxy (Nig.)	200,000	1,352.00	270,400,000.00	
7c	Contract for the Supply of 371,091 Packs of Zidovudine/Lamivudine/Nevirapine (60's)	Messrs. Emcure (Nig.) Ltd.,	371,091	1,629.00	604,507,239.00	
7d	Contract for the Supply of 247,000 Packs of Efavirenz (30's)	Messrs. Strides Vital (Nig.) Ltd.,	247,000	850.00	209,950,000.00	
7e	Contract for the Supply of 300,000 Nevirapine (60's)	Messrs. Pezzoshed	300,000	676.20	202,860,000.00	
				TOTAL	1,319,217,239.00	

8	,					
S/N	Lot No.	Description	NIGER DELTA AFFAIRS	BPP's Reviewed Amount (N)	Final BPP Reviewed Cost (Taxes Inclusive) (N)	
8a	1	Ibaka/Oron (Cross River) to Ikot Abasi (Akwa Ibom)	Messrs. Aim Consultants Limited	1,080,434,893:64	1,200,434,893:64	
8b	2	Ikot Abasi (Akwa Ibom) State Boundary) to Kula (Rivers)	Messrs. Worley Parsons Resources/Delta Afrik	1,155,531,205:35	1,275,531,205:35	
8c	3	Kula (Rivers) to Akassa (Bayelsa)	Messrs. Ove Arup &Partners (Nig.) Ltd.,	1,055,663,076:37	1,175,663,076:37	
8d	4	Akassa (Bayelsa State Boundary) to Forcados (Delta)	Messrs. Srei Infrastructure finance Ltd.,/TDCI	1,549,641,330:00	1,669,641,330:00	
8e	5	Forcados (Delta) to Delta/Ondo State Boundary	Messrs. Siraj Consulting Engineers/Nathan Associates Inc.	1,058,953,409:80	1,178,953,409:80	

8f	6	Delta/Ondo States Boundary to Awoye to Aiyetoro to Araromi to Epe	Messrs. Siraj Consulting Engineers/Nathan Associates Inc.	1,118300,139:60	1,238,300,139:60
			GRAND TOTAL	7,018,524,054.76	7,738,524,054.76

		AWARD OF CONTRACTS FOR THE SUPPLY OF 1NO 150MVA 330/132/33KV POWER TRANSFORMER, 1NO 75MVAR SHUNT							
9	REACTOR & 8NO MOBILE TRANSFORMER OIL FILTRATION MACHINES FOR THE TRANSMISSION COMPANY OF NIGERIA PLC								
S/N	LOT NO	ITEM/SERVICE	NAME OF COMPANY	IMPLEMENTI NG AGENCY	соѕт	DATE	DURATION		
9a	Lot 2010-A1	Design, Manufacture and Supply of one Unit of 150MVA 330/132/33Kv Power Transformer Complete with Spare parts and Accessories	Messrs. Hyosung Corporation	Ministry of Power	€932,546.00 payable at the prevailing exchange rate at the time of payment Plus №27,481,556.17	10/11/10	11 Months		
9b	Lot 2010-B1	Design, Manufacture and Supply of one Unit of 75MVAR 330Kv Shunt Reactor Complete with Spare Parts and Accessories	Messrs. Hyosung Corporation	Ministry of Power	€691,755.00 Plus ¥20,385,593.73	10/11/10	11 Months		

9c	Lot 2010-B2	Design, Manufacture and Supply of 8No. Mobile Transformer Oil Filtration Machines Complete with Spare Parts	Messrs. Globe Core Limited	Ministry of Power	€552,264.49 Plus ₩16,274,894.35	10/11/10	12 Weeks
	AWAR	D OF CONTRACT FOR THE DESIG	in, manufacture, s	UPPLY, INSTALL	ATION AND COMMISS	SIONING OF	3NO.
10		TRANSMISSION SUB-ST	ATIONS FOR THE TRA	NSMISSION CO	MPANY OF NIGERIA P	LC	
10a	Lot 2010-19	Design, Manufacture, Supply, Installation and Commissioning of 2 x 150MVA,330/132KV plus 2 x 60MVA,132/33KV Substation with 6 x 330KV Line Bays at Omotosho Substation	Messrs. AK-AY Elektrik	Ministry of Power	USD17,124,086.02 Plus ♣1,393,876,241.27 inclusive of a provisional sum of ♣451,371,472.27, for 5% VAT on on- shore payments, compensation and Contingency	10/11/10	24 Months
10b	Lot 2010-29	Design, Manufacture, Supply, Installation and Commissioning of 2 x 60MVA,132/33KV Substation at Shonga ,and 2 x 132KV Line Bay Extensions at Ganmo Substation	Messrs. Rhuoga Energy/New World	Ministry of Power	€5,667,766.53 Plus №615,436,299.71 inclusive of a provisional sum of №195,444,143.74, for 5% VAT on onshore payments,Compen sation and Contingency	10/11/10	24 Months

10c	Lot 2010-30	Design, Manufacture, Supply, Installation and Commissioning of 2 x 60MVA,132/33KV Substation at Ede ,with 2 x 132KV Line Bay Extensions at Osogbo	Messrs. Cobra – Sigba Joint Venture	Ministry of Power	USD7,730,072.00 Plus ♣591,650,181.17, inclusive of a provisional sum of ♣199,309,141.17, for 5% VAT on onshore payments,Compen sation and Contingency	10/11/10	24 Months
-----	-------------	---	---	----------------------	--	----------	-----------

S/N	ITEM/SERVICE	NAME OF COMPANY	IMPLEMENTING AGENCY	COST	DATE	DURATION
11	Revised Estimated Total Cost (RETC) for the Rehabilitation of Lower Anambra Irrigation Project	Messrs. Hydroworks (Nigeria) Limited	Ministry of Water Resources	Revised Contract Sum From ♣1,022,710,463.78 To ♣1,724,591,189.00	10/11/10	Extended to June,2011
12	Augmentation of the Estimated Total Cost(ETC) for the Completion of the Construction of the Owiwi Dam Project and Associated Works including Water Treatment Plant and Irrigation Schemes	Messrs. Gilmor Engineering (Nigeria) Limited	Ministry of Water Resources	Revised Contract Sum From ♣6,836,623,887.05 To ♣9,755,826,596.30	10/11/10	Extended to July,2011

13	Augmentation of Contract NO.6037 for the Rehabilitation of Oji-Achi-Mmaku-Awgu-Ndeabor-Mpu-Okpanku-Akaeze road, Section I, in Enugu State	Messrs. Master Holdings (Nigeria) limited	Ministry of Works	Revised Contract Sum From №3,287,120,702.25 To №4,805,288,034.75	10/11/10	18 Months
14	Augmentation of Contract for the Rehabilitation of the Additional 3km (km 0+000 ton km 3+ 00) as Addendum to the Subsisting Contract for the Rehabilitation of Enugu Bound Dual Carriageway Road (Phase I of Section I) in Anambra State	Messrs. CCC (Nigeria) Limited	Ministry of Works	Revised Contract Sum From N5,092,444,641.90k To ₩7,351,344,974.40k	10/11/10	30 Months
15	Augmentation of Contract No.6024 for the Completion of Rehabilitation of Otuocha-Anam-Nzam-Innoma- Iheaka-Ibaji Section of Otuocha-Ibaji- Odulu-Ajegwu Road in Anambra State	Messrs. Niger Construction Ltd.,	Ministry of Works	Revised Contract Sum From ₩5,804,811,747.04k To ₩7,173,909,755.40k	10/11/10	
16a	Contract for the Rehabilitation of Apapa-Oshodi Expressway Section I: Km.7 + 000 (Beachland Junction) to Km.12 + 600 RHS in Lagos State	Julius Berger (Nigeria) Plc.	Ministry of Works	₩ 6241,059,730.33k	10/11/10	12 Months
16b	Contract for the Rehabilitation of Oshogbo-Ilesha Road Section I: Ilesha-Oshogbo (Km.0 + 000 to Km.28 + 700) in Osun State	Horizon Construction Company Limited	Ministry of Works	₩ 2,693,245,401.00k	10/11/10	15 Months

CONTRACTS (8) FOR THE CONSTRUCTION AND REHABILITATION OF FEDERAL ROADS AND BRIDGES IN THE NORTH-CENTRAL, SOUTH-EAST, SOUTH-SOUTH AND SOUTH-WEST GEO-POLITICAL ZONES BY FEDERAL MINISTRY OF WORKS

17

	PROJECT DESCRIPTION	RECOMMENDED CONTRACTOR	COST	IMPLEMENTING AGENCY	COMPLETION PERIOD
а	NOTH- CENTRAL ZONE Rehabilitation of Otukpa- Oweto Road in Benue State	Messrs. CGC (Nigeria) Limited	₩4,645,813,565.45	Ministry of Woks	18 Months
b	Dualisation of Suleja-Minna Road in Niger State	Messrs. Salini (Nigeria) Limited	₩ 9,951,051,335.18	Ministry of Works	30 Months
С	SOUTH -EAST ZONE Rehabilitation of Ozalla- Akpugo-Amagunze- Ihuokpara-Nkomoro-Isu- Onicha (Enugu-Onicha) Road, with a spur to Onunwere in Enugu State	Messrs. Arab Contractors Limited	₩6,796,939,488.99	Ministry of Works	22 Months
d	SOUTH -SOUTH ZONE Dualisation of Ahoada- Omoku Road Phase I in Rivers State	Messrs. Mangrovetech (Nigeria) Limited	₩ 5,177,920,728.75	Ministry of Works	18 Months
e	Rehabilitation of Umuahia- Ikot Epene Road (Phase I) In Abia State	Messrs. CCECC (Nigeria) Limited	₩ 2,995,300,579.20	Ministry of Works	24 Months

f	SOUTH -WEST ZONE				
	Dualisation of Ibadan Road (Mayfair Junction)-Lagere- Iremo-Enuwa-Ilesha Bypass in Oyo State	Messrs. Kopek Construction Limited	₩6,718,498,984.54	Ministry of Works	36 Months
g	Dualisation of Abeokuta- Ibadan Road in Ogun/Oyo States	Messrs. Kopek Construction Limited	₩3,993,183,607.88	Ministry of Works	15 Months
h	Dualisation of Ijebu Ode- Ibadan Road Phase I: Rehabilitation of Ijebu Ode- Mamu Oyo S/B Road In Ogun State	Messrs. CCECC (Nigeria) Limited	¥ 1,696,337,058.26	Ministry of Works	15 Months
	, 9	TOTAL	₩41,975,045,347.99		